GENERAL NOTES:

1.

ROLL—UP SHUTTER SHOWN ON THIS PRODUCT
ACCORDANCE WITH THE 2023
INSTALLED AT HIGH VELOCITY HURRICANE ZONES

" STRENGTH.

EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
(8th EDITION) OF THE FLORIDA BUILDING CODE. THIS ROLL-UP SHUTTER SHALL NOT BE
(MIAMI-DADE /BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,
FOR A BASIC WIND SPEED AS REQUIRED BY
FOR A DIRECTIONALITY ~ FACTOR Kd=0.85.
DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6 & 8 THRU 11.

THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED
USING ASCE 7-22 SHALL NOT EXCEED THE MAXIMUM (A.S.D.)

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-22
SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6 & 8 THRU 11.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS
BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2018.

ON THIS P.E.D. AS TESTED, WERE NOT OVER STRESSED, A 33%
NOT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS

ROLL—UP SHUTTER'S ADEQUACY FOR WIND AND IMPACT
SECTION 1609.1.2
FOR STORM BARS) AND FENESTRATION TESTING LAB REPORTS #6242 AND 6244 (SLAT AND MULLION). AS PER ASTM E
1886, £ 1996 AND E 330 STANDARDS, QUALIFYING INSTALLATIONS FOR WIND ZONES 1, 2, 3 & 4, MISSILE TYPE D,
APPLICABLE TO BASIC PROTECTION ONLY, INSTALLATIONS AT NON ESSENTIAL FACILITIES AS DEFINED BY ASTM E 1996.

ALL ALUMINUM EXTRUSIONS SHALL BE AS INDICATED ON SHEETS 2 & 3.

ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS

" PER DIN 50018 AND SECTION 2411.3.3.4 OF THE FLORIDA BUILDING CODE WITH 50 ksi YIELD STRENGTH AND 90 ksi

TENSILE STRENGTH. ALL TEK SCREWS SHALL BE AS MANUFACTURED BY ITW BUILDEX, INC.

BOLTS TO BE ASTM A—307, GALVANIZED OR AIS! 304 OR 316 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD

- ANCHORS TO WALL FOR (P)& (Q)SIDE RAILS AND BOX CONNECTION SHALL BE AS FOLLOWS:

(A) TO EXISTING POURED CONCRETE: MIN. f'c = 3192 p.s.i. COMPRESSIVE STRENGTH.
—1/4"¢ CARBON STEEL TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4"
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) MINIMUM EDGE DISTANCE (E.D.) OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 2 1/2"
EDGE DISTANCE IS BEYOND ANY FINISH MATERIAL.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
MINIMUM EMBEDMENT SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(B) TO EXISTING HOLLOW BLOCK WALL: ASTM c-90
—1/4"8 CARBON STEEL TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

B.1) MINIMUM EMBEDMENT

OF TAPCON ANCHORS, INTO THE HOLLOW BLOCK UNIT SHALL BE 1 1/4"
NO EMBEDMENT INTO

STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

B.2) MINIMUM EDGE DISTANCE (E.D.) OF 1/4” TAPCON ANCHORS INTO HOLLOW BLOCK SHALL BE 2 1/2"
EDGE DISTANCE IS BEYOND ANY FINISH MATERIAL.

B.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
MINIMUM EMBEDMENT SHALL BE AS INDICATED ON NOTE B.1 ABOVE.

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN.

— 1/4"8 TAPCON ITW BUILDEX

NOTES:

C.1) MINIMUM THREADED PENETRATION OF TAPCON ANCHORS INTO THE WOOD FRAME UNIT SHALL BE 1
THREADED PENETRATION
PENETRATION.

1/2" NO
INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED

C.2) MINIMUM EDGE DISTANCE OF TAPCON ANCHORS INTO WOOD SHALL BE AS INDICATED ON SHEET 9.
C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR

EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.

BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE -

10. ROLL—UP SHUTTERS INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.
11. ROLL-UP MECHANISM NOT PART OF THIS APPROVAL.
12. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT;
i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.
(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'’S RESPONSIBILITY.
(c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.
(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER
OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D. ENGINEER OF
RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
DRAWINGS FOR REVIEW.
(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
PREPARED IT.
13. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT ROLL—UP SHUTTER IN ACCORDANCE WITH
SECTION 1709.9.3 OF FLORIDA BUILDING CODE.
ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABELING TO COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE,
THIS DRAWING SHALL ONLY BE USED TO
\Q@,TA//\‘/ PERMITS IN THE STATE OF FLORIDA
Ty,
W o A Til ) T,
\\x\ \ﬁ\"' ....... =<7 7,
¥ Florida Building Code (Non High Velocity Hurricane Zone)
: © 2025 TLIECD M. RLL 55-X SLAT NON END RETENTION W
ROLL-UP SHUTTER ORAWN BY
2T
N Dt 2 Z liLlEco mc.—\ ROLLAC SHUTTER OF TEXAS, INC. | o150z
1, /‘(} .. )D 4 = — TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
Z .SS e G ~ald Z@ZD 6355 N.W. J6th. St Ste. 305 — VIRGINIA GARDENS, Fl. 33166 PEARLAND, TX 77581
”/,, / NAM W Phone : (30S) 871-1530 , Fox : (305) 871-1531 PH:(800) 880-0922, FAX:(281) 485-0839
,"I;, “\\\\ / e—moail: tilteco®@aol.com 25—-053
fepeain CA-0006719 DRAWING N’
WALTER A. TILLIT Jr., P.E. REV N’ DESCRIPTION OME  |REVN DESCRIPTION DATE
P SEALSTENATORE /5ATE FLORIDA Lic. # 44167 ; b il e : PO

6. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE. RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S MANUFACTURER.

7. ANCHORS REQUIRED FOR STORM BARS, HEADERS & MULLION TO CONCRETE SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS
SHOWN ON SHEETS 5, 6, 7 & 8 OF 11 RESPECTIVELY.

—410 SS WEDGE BOLT ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
—CALK—IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
—TAPCON ANCHORS XL TO BE AS MANUFACTURED BY ITW BUILDEX, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AT ABOVE
MENTIONED SHEETS. EDGE DISTANCE AND EMBEDMENTS ARE BEYOND ANY FINISH MATERIAL.

EMBEDMENT
ANCHOR SPACING @ 100%  EDGE DISTANCE @ 100% CONCRETE CONCRETE BLOCK

3/8° 410 SS WEDGE-BOLT 4 1/2" 4 1/2" 2 1/2" (3000 psi.) =

1/2"2 410 SS WEDGE—BOLT 6" 6" 3" (3000 psi.) =

1/4°0 CALK—IN 2 1/2” ;o 7/8" (3000 psi.) -

3/8"0 CALK—IN 3 3/4" 4 1/2" 1 1/4” (2899 psi.) -

1/4"8 TAPCON 3" 3" 1 .3/4" (3192 psi) -
5/16"s TAPCON XL 3 3/4" 4” 1.3/4 (ASTM C-90, GROUT FILLED)

8. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES
THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

WHICH REMAIN IN CONTINUOUS CONTACT WITH

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, CONCRETE BLOCK OR WOOD
FRAME BUILDINGS.




N i\\

»

N
P/4

AANANANNANRRRNRCANANNAN

~
L P/4

~__ |
P/4

TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED)

M (
bw_}/g bv/sl 6';4AX UM_HEADER SPAN (SEE SCHEDULE, @ORCQ(?
Z 4 7 7
ac &7 , ©
? Z — ~F 2 5
Z % 5/5.6,7—{ \—5/5,6,7—5/56,7—| | —s/56,7— | 2 3
7 = -
A = /// ~ = A e
% F/4 P/4 % —r/4 /4 —] % 2
. 00«0—ae——] 2
; (Typ.) % % s
2 7 o ——
f (Typ. Ea. END) Z g | Yy A | BT Y — % 3
7 I < |
Mox. SLAT SPAN (SEE SCHEDULE) | w=a l’ v/5.6,7 ’ ‘
Max. STORM BAR SPACING (SEE SCHEDULE)

NOTE: SEE SHEET 2 & 3 OF 11 FOR COMPONENTS

Max. MULLION SPACING -—1

NOMENCLATURE.

TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3 OF 11 FOR COMPONENTS NOMENCLATURE,

Max. HEADER SPAN &
Mox. MULLION SPACING (SEE SCHEDULE) @OR@
% : S LLISELE SIS { L LA S S S A S YL
~J Il /T Bor T ! m/ / * H[@m@ _[
Oer W - e | i
§ l | | ‘ | \®OR :M | [5/5.6,7— [——5/5.6.7 ‘ | [5/5,6,7 ] [—5/5.6.77] | l g §
: | I il —@O—_ || = =l = — -
IS g
& Q/4 —o/4 | [ R/4” | | R/ [S/56,7 | [—s/56.7] 3 g
| I==II= gy || I
P T =L v ==
s e —a/4 e 35
3 i S | s, = ——Hi— S3
: | I o === DEl= i 3
||| ——F— (Typ. Ea. END) ] — ] 1] th/4— —R/44 §
L | — || S I | |l f 3
AR mmmmmmImImTRRRRIiTDTDDY NI HHEEHHHHHENENRARARAN AAN NN ANNAAT I AN A NN AR NN RN
Dw-1,/8 D |w-1,8 PN P u-278  [Plllv/ses w-2/8 Pl v/s.67
—%f_zsscnmz)
Mox. _SLAT SPAN Max. STORM_BAR " SPACING
(SEE SCHEDULE) (SEE SCHEDULE) 1 r 11 T
TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) TYPICAL CONSECUTIVE MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)
NOTE: SEE SHEET 2 & 3 OF 11 FOR COMPONENTS NOMENCLATURE. W Mmf_{?‘ ;”thhk 3 OF 11 FOR COMPONENTS NOMENCLATURE.
U Ti L5 ”
SR LS
\\\‘\v\} \CENSE ™[ ”’f,, Florida Building Code (Non High Velocity Hurricane Zone)
3 g No. #4187 % 4% © 2025 TLTECO e RLL 55-X SLAT NON END RETENTION WH.
g * % S ROLL-UP SHUTTER o o
z STATE T A I L I E C o 06/19/2025
% 9 - T APy A INc._\| ROLLAC SHUTTER OF TEXAS, INC. | °/'%:
:{'5)0 FLOR\“_.-'@V?{\‘/ ’ S TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
K TR RN S S . 1 i, e eria00] 58583 (358 .09
”rmfsf ONAL QW e mai titeco@ostcom (000 B00-092, FAXi(261) 405- 25-053
Haggpe et CA-0006719 DRAWING N
WALTER A. TILLIT Jr., P.E. REV N DESCRIPTION OATE | REV DESCRIPTION DATE
FLORIDA Lic. §# 44167 P oD 20-243 06/19/25| 3
A : -~ SHEET 1A OF 11




2.618"

O 215"
I

.508"

SLAT

RLL 55-X SLAT
6061-T6 OR 6005-T5 ALUM. ALLOY

4.000"

—

rmw-——

125"

(m)j [~

TYPE 3 HEADER:

1"x4" EXTRUDED HEADER
6063-T6 ALUMINUM ALLOY

3.000":

J" Mo,
Min,
|

|— 125"
(Typ.)

@ BUILD-OUT TUBES

3"x3" EXTRUDED TUBE
6063-TS ALUMINUM ALLOY

2.000"

3 iz

!

TYPE 1 STORM BAR:

4" HEAVY EXTRUDED STORM BAR
6063~T6 ALUMINUM ALLOY

4.000"

.250°
(Typ.)

2.000"

8 Malm

(F) TYPE 2 STORM BAR:

4" EXTRUDED STORM BARS
6063-T6 ALUMINUM ALLOY

4.000"

(L) T1YPE 1 MULLION:

6" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY

.250"
(Typ.)

M) TYPE 2 MULLION:

4" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY

2000'—“—7

J.000"

1255~ f—
(Typ.)

(G) IYPE 3 STORM BAR:

3" EXTRUDED STORM BARS
6063—T6 ALUMINUM ALLOY

-.062"

—{F—.062"

[ -

.079"°

1,125 —
1417

ﬁ

r 2.969"

ﬁbghzo'—l l—I.SDQ'——w

(P) TYPE 1 SIDE RAIL

_ § g oy~
W) i L
TYPE 1 HEADER: (V) TYPE 2 HEADER:
4" HEAVY EXTRUDED HEADER 4" EXTRUDED HEADER
6063-T6 ALUMINUM ALLOY 6063-T6 ALUMINUM ALLOY
% Voo .
L4 a8 g 599" ._ 8
i [ f [ 1775 .
—rr , . . N —’—‘\nﬁ:ﬂ §
§ 'sg .E'g”:" | 062" -'§ § E N
[ 2 -8 ;
7 o AL L
b4 . 2.500" 2.000"

RLL—40 SIDE RAIL
6063—T5 Alum. ALLOY

@ TYPE 2 SIDE RAIL

RLL—1 SIDE RAIL
6063—~T5 Alum. ALLOY

@/NS/DE MOUNT ALUM. ANGLE:

EXTRUDED ALUMINUM
6063—~T6 ALUMINUM ALLOY

COMPONENTS

SCALE: 1/2" = 1°

Florida Building Code (Non High Velocity Hurricane Zone)

© 2025 TILTECO INC.

/ TiLlEc o me. \

P.E. SEAL/SIGNATURE /DATE

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305 - VIRGINIA GARDENS, Fl. 33165

Phone : (305) 871-1530 , Fox : (J05) 871-1531
e—mail: tilteco@aol.com
CA-0006719

WALTER A. TILLIT Jr., P.E.

FLORIDA Lic. § 44167

RLL 55-X SLAT NON END RETENTION W.H.
ROLL-UP SHUTTER DRAWN BY
ROLLAC SHUTTER OF TEXAS, INC. o6/ szzozs
5331 ORANGE STREET
(600  EARLAND, TX 77561
PH:(800) 880-0922, FAX:(281) 485-0839 25_053
DRAWING N*
REV N DESCRIPTION DATE REV N~ DESCRIPTION () ¢
- e e > SHEET 2 OF 11




—~}—.040
N
8

RLL 55-X SLAT
EXTRUDED ALUMINUM
6063—T76 ALUMINUM ALLOY

DETAILS

RV 45& RV 45/S
HOUSINGS

(SEE DETAILS)

=

45" CHAMFER
AS APPLICABLE

STUB DETAI, Y

(N. T. S.)

X) SIDE CAPS:

F

SIDE CAP HEIGHT
(SEE SCHEDULE)

[/

N

45" CHAMFER
AS APPLICABLE

BK 90, BK 45 & BK 45/S

COMPONENTS FOR GEAR OPERATED SYSTEM

(D - cear
(2) - UNIVERSAL & CRANK
(3) - CRANK HOLDER(OPTIONAL)

(5 - IDLER INSERT
(6) - BALL BEARING
(2) - ocraconaL AxiE +

— SIDE/END CAP *

- PLUG-BUTTOMS

®
©
19
() - SIDE RAIL
12
(3)

~ ALUMINUM SLATS W/PLASTIC SLAT LOCKS © EVERY OTHER SLAT W/ (2) f4x1” FH. SM.S.

(9 - BASE SLAT

— SPRINGLOCK HANGER

— SAFETY PLATES
ADDITIONAL COMPONENTS FOR
MOTORIZED OPERATED SYSTEM

(4) ~ GEAR INSERT(GEAR TO AXLE CONNECTOR)

— ENTRY GUIDES (ONLY FOR A—150—H SLAT)

— HOUSING(FRONT & BOTTOM), 0.040" THICK

SIDE CAP HEIGHT SCHEDULE

TYPE 90" 45°
7 4.0" N/A
2 5.0” N/A
3 55" N/A
4 6.0" 6.0"
5 6.5" 6.5"
6 7.0" 7.0"
7 8.0" 8.0"
8 9.0” 9.0”
9 10.0" 10.0”
10 N/A 12.0”

N/A = NOT APPLICABLE

— TUBULAR MOTOR

* SHALL BE CAPABLE TO SUSTAIN SLAT'S WEIGHT AND ASSURE LIFTING
MECHANISM (SEE NOTE 11/1).

— MOTOR BRACKET
- SWITCH

FASTENERS

@ - 3/16” ALUMINUM POP RIVETS (6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

Florida Building Code (Non High Velocity Hurricane Zone)

60085 TLIEC RLL 55-X SLAT NON END RETENTION W.H.
. o o - ROLL-UP SHUTTER DRAWN. BY
= \

liLIEC O .. ROLLAC SHUTTER OF TEXAS, INC. | °/'%/z02
\,l/\ ’ L= TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
% 6355 N.W. 36th. St, Ste. 3OS - VIRGINIA GARDENS, Fl. 13166 PEARLAND, TX 77581

Phone : (Jgsz,::;,‘;-w?;;('e;;'éagﬁc)oz’—“U, PH:(800) 880-0922, FAX:(281) 485-0839 25__053

@ BOX COMPONENTS AND ASSEMBLY DE TAIL e S —— T — | DRAWING N

(SEE NOTE 11 ON SHEET 1) FLORIDA Lic. § 44167 ow 20-203 osprofzs| 3 SHEET 3 OF 11




TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 11 OF 11)

AV

ED. e
SEE SCHEDULE ON—pq— ]
SHEET 11 OF 11) "% =

POURED CONCRETE OR
CONCRETE BLOCK
REQUIRED

£Q.

£Q.

1/4°

X1

Max.

D>

SECTIONP - P (1) : WALL MOUNT

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 11 OF 11)

4" o.c.

1/4°0 x 3/4" [TW
BUILDEX TEK SCREW ©

X2

ED.  -ne ) L

(SEE SCHEDULE ON - .
SHEET 11 OF 11)- -

POURED CONCRETE Tarete e
OR CONCRETE BLOCK 5 i

REQUIRED

Sl

POURED
CONCRETE
REQUIRED

s

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 10 OF 11)

N.T.S.

1" x 2" x 1/8" Alum.

PLATE W/ 1/4% TAPCON

[ ANCHORS © 24" 0.C.
_______ 1
- |

-

| / h \ |
| -
‘ N Sy e 4 I
. J

j LJ'—

SECTION P -P (2) : SIDE WALL MOUNT

1" x 2" x 1/8" Alum.
PLATE W/ 1/4% TAPCON
ANCHORS © 24~ O.C.

/

A

N.T.S.

POURED CONCRETE

; REQUIRED

e =N FR Y
. —— s 252
FxISTING Wl ensTG | S ﬁz’ o @ , HH
V :l &Sz ase s _
@/,J J\/ﬁt —‘:ll = D]> e @ azan
CAR I - - 3n : 2 ax. Mox.
, | EXISTING R %' . .asg' g;:.z ALUI-;IN!?AS ANGLE il @o
27 x 2° x .125% B[ e 0] SECTIONR - R : MULLION MOUNT SECTIONR - R : MULLION MOUNT
Cont. ‘Alum. ANGLE TAPCON ANCHORS
S o © 24" 0. C. NT.S. N.T.S.
o
POURED ad SECTION X - X (3 NS
S B o (@] wr R,
BLOCK 4— O S :__,,;.'Q/ %, ; oo . . .
REQUIRED o S \CENé}::' » %, Florida Building Code (Non High Velocity Hurricane Zone)
‘| T P
[—“1 ! . [ H S 5 No 441 v Z OIS TRIECD Wi RLL 55-X SLAT NON END RETENTION W.H.
R el '\ V/ / Sk é@&g ROLL-UP SHUTTER oRAMN BY
/ Cont. Al AVGLE , poures concrere 2D Swmor. ;S / iLlEco INC. \ ROLLAC SHUTTER OF TEXAS, INC. | /1202
TAPCON ANCHORS REQUIRED 20N A é% Q"\‘/Z@ ZH o : DATE
o e 5%, ZORIDP‘ : Q{,Q’Sb = TILUIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
SECTION X -X (2) 2 N0 AN N ey o T Fox & 308 Srreran e PH:(800) 880-0922, FAX:(281) 485-0839
SEC T/ONX - X (7) ,‘? &/ ! 6\ \\\\} e—mail: tilteco@aol.com ¢ 25-053
oy N. T.s. "’/t,, OAIAL k \\\\“\ CA-0006719 DRAWING N
s iy WALTER A. TILLIT Jr., P.E. v P o [ rev DeSCRITON o
FLORIDA Lic. # 44167 ; ot T B
A z) ! ’ SHEET 4 OF 11

I

TAPCON ANCHORS
(SEE SCHEDULE ON —
SHEET 10 OF 11)

TO GLASS

SEPARATION* |
(SEE SCHEDULE

e T
| o~ : ||
| , \\ |-. . R
Koo ) l
D L I
| 9 l
Lo @ I
N
| = \
S i

|

Cont. 1%%2% 2°%2" OR 2'x3"x
ALUMINUM TUBE W/ 1/4%
TAPCON ANCHORS

© 24" O.C.

TAPCON ANCHORS

OR CONCRETE BLOCK.
REQUIRED 3

(SEE SCHEDULE 0
SHEET 11 _OF 11)
POURED CONCRETE __ e, .. °. ., ' ﬁ

E.D.

\—(SEE SCHEDULE ON-_-
" SHEET'41-OF117), -

1/4% x 3/4" ITW
BUILDEX TEK SCREW © —1]
4" 0.C.

TAPCON ANCHORS
(SEE SCHEDULE O
SHEET 11 OF 11).

POURED CONCRETE
OR CONCRETE BLOCK
REQUIRED

(SEE SCHEDULE ON—— ]
| . SHEET 1£70F 'v1).

174" P.T. SOUTHERN

FIR WOOD PLANK

JENY

£0.

jj‘ﬁm
0.

(PN

1/4" Mox.

@@ x>

PINE §2 OR DOUGLAS—-]

R_se_s)

Mox.

oy
GLO

SECTION P-P (3):B.0. (OPTION)

SECTIONP - P (3) : BUILD-OUT

1/8"

:

ANCHORS © 24" o.C.

POURED CONCRETE

OR CONCRETE BLOCK

REQUIRED —\//
SITZ
1]
TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 11 OF 11)
I -
L
1
POURED CONCRETE
OR CONCRETE BLOCK
REQUIRED
Il SEPARATION
[ £

N.T.S.

1% x 27 x 1/8" Alum. PLATE
W/ 1/4%0x3/4" TEK SCREW

4" o.c.

Q=@

1/4% x 3/4" ITW
BUILDEX TEK SCREW ©

1/4% x 3/4" [TW
BUILDEX TEK SCREW ©
4" ocC.

N.T.S.

~

ROSC

__\/:_\@

e_s2_s)

®)or

1/4"
Max.

w/8

SECTION Q- Q : MULLION MOUNT

N

21

oL

N.T.S.

1/4° x 3/4" W
BUILDEX TEK SCREW

o 4" 0.C.

yU

1.000"

X2




POURED CONCRETE WITH 4"

1" x 2% x 1/8" Alum. PLATE

1" x 2" x 1/8" Alum. PLATE

W/ 1/4° Ta ° 11g2%1 1/2%1/8"  FOR INSTALLATION INTO CONCRETE, e i clt w0 3
1/47@ TAPCON ANCHORS " " “ “ “ A NI A o
W/ 1/4° TAPCON ANCHORS @ 24" oc. M N ST0RM EiE OEFTE ‘Ef&@oﬁo?e ;AA,/JYC %ﬁ?lvggqoﬁ? AT L2050 410 SS WEDGE-BOLT W/2 1,/2"
MIN. THICKNESS REOUIRED 6 24" 0. Alum. ANGLE EA. SIDE ; Min. EMBEDMENT AT EACH SIDE
(F'e=3000 p.s.i. MIN.) S ~=—7 STORM BAR SPAN AND A.S.D. DESIGN in. EMBEDM: .
/ [ ' SO 1 P PRESSURE RATING. |
/ J/ %) 5 FOR INSTALLATION INTO CONCRETE, . l
S 3 N AN L USE (1) 3/8"8 410 SS WEDGE-BOLT © d
) y N ] o Tt ANCHOR W/ 2" MIN. EMBEDMENT AT S N
J A = ! \ ' QE
[ J g8 i PRED, CONGRETE Wit v / \ | P EACH SIDE FOR ANY SLAT SPAN, NE
| STORM BAR SPAN AND A.S.D. DESIGN
I {l_—e_e . . ?g/‘v. ;/;/(chwfsg IL&/‘SI;IRED / " | | P I PRESSURE RATING.
- ~ c= .S.0. . .
it Ef P N ‘[ A 4 z/y# / ! | .L {) i FOR INSTALLATION INTO HEADERS S
« g5 I T ’ \\ | FD. / I N USE (2) 1/4"0x3/4" TEK SCREW N
:: 5| : \ | N I 4' 2 AT EACH SIDE. N L
| ~ _ - " e <o)
1 L } ‘ ) ) : T 4 ! L@ \‘(2) 1/4"8 x 3/4" TEK SCREW / VY it 7 3 /
| p AT EACH SIDE.
I ! I / i ¢ \_
" ! { L/ ) - J A = LN == SECTION S — S (FOR FIXED STORM BAR) EDGE OF Lg)[}é:'ﬂ’gg;/f TEK SCREW
{ I I =4 A T 8 CALE - 1/2” = 17 WALL 4
H L e R e, e SECTION S2 — 2
7 3 ”»
I It \HqC__. AL S : 4 SCALE : 1/4" = 1
I—1.000"—~, | ' . —H FOR INSTALLATION INTO CONCRETE,
I (Min.) | | OPTIONAL | I . . USE (2) 1/4"0X7/8" CALK—IN *
I I I | | o N . 1 1/2%1 1/2%1/8 ANCHOR AT CENTER OF ANGLE EACH Ve
:: ! I | : @ oR @ [=3/4"—=3/4 —]x STORM BAR DEPTH SIDE FOR ANY SLAT SPAN, STORM <
1 -
1.000 | Alum. ANGLE EA. SIDE, BAR SPAN & A.S.D. DESIGN
1] | | (Min.) | | ————— } PRESSURE RATING. h a MACHINE SCREW
i | | in. . i Bl | FULLY EMBEDDED
S I D ® R 3 <
| | 4 <
c Ml | | S - N .
s e L [ T 1T T 94 L
\ g
5. i | ! ; - :s { R FOR INSTALLATION INTO HEADERS j/L
I 1] 1 \ EXISTING —— | USE (2) 1/4"ex3/4" TEK SCREW
Bl I — 6LASS : ‘ | o 1 DN A AT EACH SIDE. DETAIL_A .
£ 1 ) | | "\L - N . SCALE : 1/2" = 1
i ! ' T~ 3
= |
Qg “ 1 | | [ | | \_(2) 1/4°0-20 S.5. M.S X 1/4°9—-20 MACHINE SCREWS USED JOINTLY W/ 1/4°0x7/8"
g9 I : : | [ ! W,/7/8%x3/32" WING NUT CALK—IN ANCHORS RESPECTIVELY SHALL BE LEFT TOGETHER W/
£3 1 : : _Sg”é‘;ﬁ;é%"éom R : : ANCHORS AT THE TIME STORM BARS ARE REMOVED. (SEE DET. A).
[ 1 1
2y f | SHEET 10 OF 11 Vi
¥ I SEPARATION TO GLASS | Ii : ] OR
8 SEE SCHEDULE ON
ES I SHEET 10 OF 11 | (:) L : . ' (BEYOND) SECTION S — S (FOR REMOVABLE STORM BAR)
3 f : : SCALE : 1/2" = 1"
T I
L b ir—6e0 (= -
3 (8EYOND) 1.000" I ! hgoo~_1.000 1:000_ 1.000
3 (Min.) ! AT | A !
X i T T ! [ \ , -‘ POURED CONCRETE WITH 4"
3 0 | | | I : } ; | MIN. THICKNESS REQUIRED OR
it | | | | f ! lirdt ; 7 / / / L . / e GROUT FILLED CONCRETE BLOCK
] ! ! ! s2 | s2) I ! Z Z
N : : | | | | H—1
i \ (LT ! | Q! ! 5 = \— EDGE OF
I ! ! : :\@ —4 & | 2%4"(MAX.)x1/4x0"—4 1/2" Alumn, WALL
: . ! o B Sk
—BOLT ANCHOR Min, - .
I § e ;\: i ! ' EMBEDMENT TO POURED CONCRETE 0 (2)011/4 /Z S }7/ 4 BEK ScRew
! | | \ i [ ] J‘/\' REQUIRED AT EACH SIDE FOR ALL SIDE (Typ.).
=| i y | | ' SPAN & A.S.D. DESIGN PRESSURE +—1 ve
| o | | | i ] RATING CONDITION & (2) 5/16%
F—1.000—|, | | ; g : TAPCON XL ANCHORS T0 GROUT FILLED
| (Min) | | i | 3 F’ ; S1 CONCRETE BLOCK OR POURED £Q
| L | | / L [LBOTIOM SLAT CONCRETE AT EACH SIDE FOR ALL
i f | AT | POURED. CONGRETE Wi, 4% S . 4 SPAN & A.S.D. DESIGN PRESSURE
T - OO [ S l e S o () 1 s
:: °| (Fe=3000 p.s.i. MIN.) : @ EACH SIDE.
I Q 2°%4"(MAX.)x1/4x0'~4 1/2" Alum. i
I oo o o ANGLE W/ (2) 3/8% 410 SS : ,
g8 BOTTOM SLAT  WEDGE-BOLT ANCHORS W/ 2° Min.  § | SECTION S1 - S1
- EMBEDMENT TO POURED CONCRETE N |
REQUIRED AT EACH SIDE FOR ALL | SCALE : N. T. s.
| f SPAN & A.S.D. DESIGN PRESSURE | .
RATING CONDITION & (2) 5/16% ] == 1 ¢ RUCULULLLEEEE RPN
/ TAPCON XL ANCHORS TO GROUT FILLED | \\»\\“\ o A T,
M CONCRETE BLOCK OR POURED : Q NS,
Zﬁé”"?@&%@?@% om?”m FOR 1/4% TAPCON ANCHORS l 3060 i CONCRETE AT EACH SIDE FOR ALL ¥ leo-lro- § Y\‘,\‘(’ CE N =Y o ’z,
A > OR 1/4"@ CALK—IN ANCHORS i : p SPAN & A.S.D. DESIGN PRESSURE » NI A %, . T : . .
(F'c=3000 p.s.i. MIN.) o Yk ke MRS . / S L R S QVWCENSE P 2 Florida Building Code (Non High Velocity Hurricane Zone)
ANCHORS 4.500" Mif: 3/4" TEK SCREW TO STORM BARS AT s - i % 2
/| B Soe>n ™0 ST Bs S 7| No.aster - % © 2025 TLTECO M RLL 55-X SLAT NON END RETENTION | wn.
M. THICKNESS REQUIRE] sS4 ‘d = _ DRAWN BY
GROUT FILLED CONCRETE BLOCK = *: * K = . ROLL-UP SHUTTER
CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION w/ WALL MOUNTING: SECTION V-V(1) %= <" GS'TA'TE-OF ':Ct :{s I I L I E cCoO
2" > A — e 06/19/2025
INSTALLATION W/ FIXED STORM BARS %. %51, Q% F— > |/ INC. ROLLAC SHUTTER OF TEXAS, INC. s
X =, ,<<‘<\-.,:» ORID \‘Q > TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
( SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT) W/ CONCRETE ANCHORS 2, AR T4 v \\\,w 6355 N.W. 36th. St Ste. 305 — VIRGINIA GARDENS, FI. 33166 PEARLAND, TX 77581
NTS. N.T.S. % S/O ,L LN 2\9 Phone : (305) 871-1530 , Fox : (305) 8711531 PH:(800) 880-0922, FAX:(281) 485-0839
SINGLE SPAN SECTIONS AND DETAILS SEC T/O N V "/t,, W N e—mail: tilteco@aol.com 25-053
ARE SIMILAR TO ABOVE SHOWN WITHOUT -V ’"N,'{H\“ CA-0006719 DRAWING N*
STORM BAR & MEADERS. WI;Q(TJER}TD: LT/LLIT ‘ir“6F'7E REV N DESCRIPTION DATE | REV N DESCRIPTION DATE
PE SEAL/SIGNATURE/DATE ie. # ! 0020243 d ) SHEET 5 OF 11
2 4




POURED CONCRETE WITH 4~
MIN. THICKNESS REQUIRED
(1'c=3000 p.s.i. MIN.)

EXISTING
GLASS

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE
SEE SCHEDULE ON SHEET 10 OF 11

1l
\|—1.000"——

I (Min.)

' separaTiON

T
I
|
|
T
|
|
!
|
|
|
!
|
|
)
|
|
!
|
|
1
|
|
|
|
|
!

|
|
|
1

OF 11

TO GLASS |
SEE SCHEDULE ON -+
! SHEET 10

1" x 2" x 1/8" Alum. PLATE
W/ 1/4% TAPCON ANCHORS

L

-

S

}
J'\\‘"Lk@ on (F)

@
! GQLIO

(BEYOND)

o

POURED CONCRETE WITH 4~
MIN. THICKNESS REQUIRED

OPTIONAL

1" x 2" x 1/8" Alum. PLATE

W/ 1/4"9 TAPCON ANCHORS

/0 24" oO.C.

1.1/2%1 1/2°%1/8%
STORM BAR DEPTH

USE (2) 1/4"8 TAPCON ANCHOR
EACH SIDE FOR ANY CONDITIONS
UNDER 65 PSF A.S.D. DESIGN
PRESSURE RATING.

FOR INSTALLATION INTO CONCRETE,

FOR INSTALLATION INTO CONCRETE,

AT

p——r1.5 "—ip

250"

. 1 1/2°%1 1/2°%1/8%0"-4"

2507

RATING CONDITION.

AT EACH SIDE.

ND@u®

EXISTING
GLASS

(1'c=3000 p.s.i, Mi ) E.D.
s
o0-0-6
8%
T
)
|
|
1.000" |
(Ml'n,) |
\}‘
52 s2

-

SEPARATION TO GLASS

[~ SEE SCHEDULE ON

SHEET 10 OF 11

|
!
|
T
|
|
1
1
!
|
|
|
|

~ b
n\iksx@ or @ v
il

— &

IW

1

]

1.000" I
(Min.) { :
1 ]
{ | |
s2 : 52:
| |
] I
|

000

)~y

— e

T —
I I T OB
I I I
I I I
I I I
I | |
1 1 |
] ] { ] |
'. o 5 | s 14 (f'e=3000 p.s.i. MIN.)
X
6-0-6 O OO | gorrom star

7

POURED CONCRETE WITH j/

MIN. THICKNESS REQUIRED
(f'c=3000 p.s.i. MIN.)

FOR 1/4°9 TAPCON ANCHORS
OR 1/4% CALK-IN ANCHORS

FOR 3/8° CALK—IN ANCHORS

FOR 3/8° 410 SS WEDGE—BOLT _|
ANCHORS

3.0007 Min:

——4.500" Min:

/
~—————4.500" Min:

MIN. THICKNESS REQUIRED

TN
I

|

)| MDD u®

GG
,_———®

-

S
BOTIOM SLAT

POURED CONCRETE WTH 4°
MIN. THICKNESS REQUIRED OR,
GROUT FILLED CONCRETE BLOCK
WALL REQUIRED.

SN % Alum. ANGLE EA.
=== SIDE
% I
N
N 1)2'
3y | . [dh)
| E' W
I Q
| [l U
| A N2
1 N
) 1/2" 3
| 1
A
7 oR @
7
7 I )
L\ ) -—
OPTIONAL SCALE : N.T.S.
1.1/2°%1 1/2x1/8%
. . . STORM BAR DEPTH
[=3/4 "~/ -‘ Alum. ANGLE EA. SIDE

SCREW AT EACH SIDE.

(3) 1/470 x 3/4" TEK

| USE (1) 3/8°0 410 SS WEDGE-BOLT
ANCHOR AT EACH SIDE FOR FOR ALL 075
SPAN & A.S.D. DESIGN PRESSURE 1 ﬁ)

—FOR INSTALLATION INTO HEADERS
USE (2) 1/4"#x3/4" TEK SCREW

ZL

ALUMINUM ANGLE W/ (1) 3/87
410 SS WEDGE-BOLT W/ 2 1/2"
Min. EMBEDMENT AT EACH SIDE.

|

3.257

/27

==

Q

1/2°

I

L&) or(F)

\— EDGE OF

WALL

FOR INSTALLATION INTO CONCRETE,

SCALE

3) 1/4"8 x 3/4° TEK SCREW

T EACH SIDE.

2 N.T.S.

1

VAR AL ALN
S\
-

" USE (2) 1/4°8X7/8" CALK-IN *

ANCHOR AT CENTER OF ANGLE EACH

SIDE FOR ANY CONDITION UNDER 65 psf

A.S.D. DESIGN PRESSURE RATING AND
USE (2) 3/8"8x1 1/4" CALK—IN *
ANCHORS EACH FOR GREATER A.S.D.
DESIGN PRESSURE RATING.

FOR INSTALLATION INTO HEADERS USE

a”

- [TMACHINE SCREW

FULLY EMBEDDED

—O-

(BEYOND)

\__(3) 1/478 x 3/4" Tex
SCREW AT EACH SIDE.

OR
SCALE : N.T.S.
1.0007, 1.000" 1.000”

1.000~

fl ’//‘

ET
2%5"(MAX )x1/4%0"-6"| L_Ex . 13\@0’?®

/\\ LT—’

ALUM. ANGLE &Y
AT EACH SIDE 2
(4) 1/470x3/4"
TEK SCREWS
fxtxe it EACH SIDE

2%x5°x1/4"x 0'-6" Alum. ANGLE EACH SIDE
W/ (2) 5/16% TAPCON XL ANCHORS TO
vﬁoUT FILLED CONCRETE BLOCK OR POURED
CONCRETE WALL FOR A.S.D. DESIGN PRESSURE
RATING UP TO 80 PSF AND (2) 3/8% 410
SS WEDGE—-BOLT ANCHORS INTO POURED
CONCRETE REQ'D. FOR ALL SPAN & A.S.D.
DESIGN PRESSURE RATING CONDITION. USE (4)
1/4°@ x 3/4” TEX SCREW TO STORM BARS
AT EACH SIDE.

(NLUTEREED
RN “y

—

SECTION S1 - S1

SCALE : N. T. S.

(3) 1/4"8x3/4" TEK SCREW EACH SIDE.

ay:

a

4

\'ﬁ,{NTO ANCHOR
: ™

"™ ANCHOR

SCALE : 1/2" = 1"

X 1/4" 9-20 OR 3/8" #—16 MACHINE SCREWS USED
JOINTLY W/ 1/4” @ x 7/8" OR 3/8" @ x 1 1/4"
CALK—IN ANCHORS RESPECTIVELY SHALL BE LEFT
TOGETHER W/ ANCHORS AT THE TIME STORM BARS
ARE REMOVED. (SEE DET. A).

POURED CONCRETE W/
4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE
BLOCK WALL REQUIRED.

EDGE OF WALL

Florida Building Code (Non High Velocity Hurricane Zone)

© 2025 TILTECO INC.

RLL 55-X SLAT NON END RETENTION

W.H.
ROLL-UP SHUTTER aRAWE BY
CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION W/ -~ I I
FIXED OR REMOVABLE STORM BARS W/CONCRETE ANCHORS ILIEC O . ROLLAC SHUTTER OF TEXAS, INC. | °/ e
- SCALE : N.IS. TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
( SEE SECTION "S® FOR ANCHOR TYPE REQUIREMENT) & /R‘ y D 6355 N.W. 36th. St Ste. 305 - VIRGINI GARDENS, fl. 33166 PEARLAND, TX 77581
SCALE : N.TS. ,/’&S/O’QA'L E@SZ)\\\\\ Phone : (305) an;w;‘g;f. mé (Jlas) 871-1531 PH:(800) 880-0922, FAX:(281) 485-0839 25-053
(/ ) e—mail: titeco@aol.com &=
ARE SIILAR 70 ABOVE. VoW msouT SECTION vV - Vv it CA-0006719 DRAWING N*
STORM BAR & HEADERS. W%ZE’SD?. LZLLI/T -Z” :7.5 REV W DESCRIPTION o4 | rev v DESCRIPTION DATE
TCNA z) ' : o 20 ey SHEET 6 OF 11




2°%3"(Mox.)x1,/8" CONT. ALUM, 17 x 2" x 1/8" Alum. PLATE

TUBE W/ 1/4% x 1 3748 W/ 1/4¢ TAPCON ANCHORS ©

2"%x3"(Mox.)x1/8" Cont. Alum,

- i 4 17 x 2" x 125" Alum. PLATE W,
TAPCON ANCHORS ® 12" o.C. 24" o.c TUBE W/ 1/40 x 1 3/4 I/4x'¢2x G/ﬁ TEK U;Z:RE# oE 24/' 0.C. TO TUBE
FULL LENGTH TO POURED TAPCON ANCHORS © 24" O.C.
CONCRETE FULL LENGTH TO POURED
CONCRETE
| Ef L s 4
. \ \@ o 5
POURED i ‘ POURED o0 I
CONCRETE CONCRETE ™ T
REQUIRED REQUIRED
// i - 7 | |
, 0 @u® ‘
1.000" Min. \ 1.000" \ 1
Min.
| EXISTING I
—0 e |
| T ) | Tl
EXISTING GLASS — | l l |
SEPARATION

SEE SCHEDULE ON
SHEET 10 OF 11

TO GLASS l
|

ﬂ\i‘ SEPARATION TO GLASS
SEE SCHEDULE ON
I ‘ SHEET 10 OF 11
i .

A
Rl

suito-our Tuse(Y) l
(BEYOND)

1.000" Min.

1.000" Min.

/

2
I
J

BulLo-out Tuse (Y)
(BEYOND)

|
|

@ |
(=@ :
|

j

SN PR

|
|
|
|

&=

1.1/2"%1 1/2°x1/8"
STORM BAR DEPTH

1/27
Typ.

.750° .750" Alum. ANGLE EA. SIDE
FOR INSTALLATIONS INTO TUBE &
HEADERS USE (2) 1/4°0 x 3/4"
TEK SEG)REW EA. SIDE FOR STORM
BARS Q) & (3) 1/4°0 x 3/4" TEK
€3--H 2 5 {{ SCREW EA. SIDE FOR STORM BARS )
4 &
By
RO O O (©

1/2"
Typ.

(2) 1/4" x 3/4" TEK SCREW EA.
— SIDE FOR STORM BARS (0) & (3)

SIDE FOR STORM BARS

1/4"0 x 3/4" TEK SCR% 17}
«®

SECTION S3 - S3

SCALE : 1/2" = 1™

USE CONCENTRATION OF (3)
3/8% 410 SS WEDGE-BOLT TO
POURED CONCRETE © 3~ O.C.

OR USE (5) 5/16"@ TAPCONS —
XL TO GROUT FILLED CONCRETE
BLOCK OR POURED CONCRETE
WALL @ 3" 0.C. FOR BOTH
CASES

ﬁr»—[—/@ Grl6;

1.1/2" x 1 1/2" x .125 x STORM BAR
DEPTH ALUM. ANGLE (SEE SECTIONS 53—-S3

" x 77 (Mox.) x .250" Cont.
LUM. ANGLE (CASE 1).

AS APPLICABLE)

/

S

T

T

O

I N

e
(o)

o]

g

Lz.ooo'

12.000" 3.000"

J3.000"

3.000" 12.000"

ALUMINUM TUBE
(CASE Il ONLY)

(2" x 6° (MAX.) x .250" Cont.

1/4°@ TAPCON ANCHORS ©
127 0.C. (TYP. AT EACH SIDE,

BEYOND CONCENTRATION)

ELEVA T/ON/X\

SCALE : N.T.S.
s3 | ] [
[ 1 GLIG
// l 7 % i
o o . O o0 o
“4.000" 1° 9| @ o / T—2o O
Min. s P ) T o = =
| e 7, 7 A+
= 1 ey i 2"x3"(Min.)x 1/4" Cont. ALUMINUM ANGLE
L <| W/ CONCENTRATION OF (4)1/48 x 1 1/2"
. . TEK SCREW © 1 1/2" O.C. AT STORM BAR
2 xilmliz):;’é:g Cont. .. . LOCATION, REST 0/72' o.C.
i POURED CONCRETE (4~ -] 2"%6"(Max.)x1/4" Cont. sibbediss
POURED CONCRETE (4 MIN. THICK) OR GROUT .750 ALUMINUM TUBE RO
MIN. THICK) OR GROUT FILLED CONCRETE BLOCK RAT ey,
REGUIRED e BLock REQUIRED L Ly, %, ] o
SSTVUCENS L 2 Florida Building Code (Non High Velocity H urricane Zone
5 2
CASE | CASE 1 No. 44167 - 2 T RLL 55-X SLAT NON END RETENTION WA,
* %i'._ ROLL-UP SHUTTER QRAWN: 8Y
—STATE. — .2
T RO a3 / ILIEC O inc. \| Rouac sHUTTER OF TEXAS, INC e
STORM BAR CONNECTION AT BUILD-OUT INSTALLA TION : SECTIONS V- V(3) \{/40/81\%’/“ CUS=" | TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
Ky A /Q)\ \\\\ 6355 N.W. Jm{. s:.), Ste. 305 - ’V_IRGIM? z:afoms A. 33166 PEARLAND, TX 77581
» » Phone : (305) 8711530 , Fox : (305) 871-1531 (8 -0 , FAX:(281) 485- 9
SCALE : 1/4" = 1 /@/NA L/E“ \\\\\\ e—rnoail: tilteco®aol.com Fligeao) aio=osex Gk 003 25-053
T CA-0006719 DRAWING N
S WALTER A. 7_'ILLIT Jr., P.E. REV N DESCRIPTION DATE | REV ¥ DESCRIPTION (3
P SEAL/STENATORE /AT FLORIDA Lic. § 44167 ; T ST j PO




1" x 2 x 1/8" Alum.
POURED CONCRETE (4" MIN. THICK)
REQUIRED

277

17 x 2" x 1/8" Alum.

PLATE W/ 1/47¢ TAPCON
PLATE W/ 1/47 TAPCON ANCHORS @247 0.C.
/4" ANCHORS © 24" O.(. £

POURED CONCRETE
//////// REOUIRED (6 MIN. THICK) e
\ »
,

|
1 H

N e
' / N \ N &7
| | 4 !
|

N |

o}
e}

1 1/2°%1 1/2°%1/8% MULUO
DEPTH Alum. ANGLE (EACH _| /
SIDE) W/ (2) 3/8" 410 SS
WEDGE—-BOLT W/ 2 1/2° MIN.
EMBEDMENT TO SLAB.
(Typ. TOP & BOTTOM)

( : )on(: )

)
I%3%3/8%0°-2" (6061-T6 ALLOY)
Alum. ANGLE W/( 4) 1/4°0x1" TEK

SCREW TO HEADER & 1/2"¢ 410 SS
WEDGE~BOLT ANCHOR W/ 3" MIN.
EMBEDMENT TO WALL.

@ oF @/‘ ; @ on@ (oMLY FOR  W-w(2))

POURED CONCRETE
REQUIRED (4" MIN. THICK)

(2) 2°x4"x1/4%0'-5" Alum. ANGLES TOP
AND BOTTOM W/ (4) 1/4% S.S. THRU

BOLTS TO HEADER & (2) 3/8" 410 SS
WEDGE—-BOLT W/ 2 1/2° MIN.
EMBEDMENT. USE 2°x7°x1/4"x0'-5"
Alum. ANGLES FOR CASES W/3"
BUILD-O0UT TUBE.

ALTERNATIVE 2ZWALL MOUNTING :

)
|
Min. ; (4) 1/47 x 1 1/4" TEK
SCREW EACH SIDE.

| () *(Q)

1

: 3%3%3/8°%0°-2" (6061-T6 ALLOY) Alum. ANGLE ALTERNATIVE 1

| FOR SINGLE SPAN & 3"%3'x3/8°x0'-4" (6061-T6 WALL MOUNTING : SECTION W-W(3)
EXISTING GLASS-/ h ALLOY) Alum. ANGLE AT MULTIPLE SPAN W/ (1) - ~ =

1/2% S.S. THRU BOLT AT SINGLE SPAN & (2) SCALE : 1/8" = 1

1/2°8 S.S THRU BOLTS AT MULTIPLE SPAN. USE
7/8° 0.0.x3/32" THICK WASHER W/ THRU BOLTS.

NOTE:
VALID FOR ANY SPAN AND LOAD CONDITION

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE:

Q0/4 OR R/4

v

0/4 OR R/4

¥
\®OR@

2°%2°(MAX)x1/8" ALUM. TUBE W/ 2"%x2"x1/8"
ALUM. ANGLE TO SIDE RAIL W/ (3) 1/4% x 3/4"
TEK SCREW EA. LEG

1"%2°%1/8" ALUMINUM PLATE W/

Y48 TEK SCREW @ 24" O.C.

POURED CONCRETE. *»
REOUIRED (5" MIN. rmcx)) AN

(2) 3/8° @ THRU BOLTS FOR GREATER LOADS

|
I
!
L
)
I
1
|
|
|
)
|
[
|
l
| 1 FaN
! LA~ (T TOP & BOTTOM) H L
o of /

URED CONCRETE 7
REQUIRED (4 MIN. THICK)

4.500" Min. Typ.- 1 1/2¢

<

OLG)

3%3°%3/8%0°~2" (6061-T6 ALLOY)

FLOOR/CEILING MOUNTING :
SECTION W-W (1) W/O HEADER
SECTION W-W (2), W/HEADER
SCALE : 1/8" = 1~

TEK SCREW TO HEADER & 3/4%0
410 SS WEDGE-BOLT ANCHOR W/
3" MIN. EMBEDMENT TO WALL.

ALTERNATIVE 2

Alum. ANGLE W/(6) 1/478 x 1 1/4"

SECTION W-W(3)

SCALE : 1/8" = 1~

NOTE:
VALID FOR ANY SPAN AND LOAD CONDITION

D—

@@a/v@/ }

3% x 3" ALUMINUM ANGLE ="

2°x2°x1/4%0°-6" Alum. ANGLE EA.

SIDE W/ (2) 3/8% 410 SS
WEDGE—BOLT W/ 2° Min.

EMBEDMENT TO POURED CONCRETE
WALL (4" MIN. THICK). USE (2)

3/8°0 S.S. THRU BOLTS TO
MULLION.

POURED CONCRETE

REQUIRED (4" MIN. THICK)

Z

®_____4

@ o
OPENING)

(EXTENDED PASSED

5.000"
— p—1.00" 1.00"— |—
t———3.000"—
: < i ,:_\_ = -
2500" [Rococoaoo : i
LO (o]

ELEVATION /?A

SCALE : 1/8" = 1”

2" MULLION'S DEPTH x1/8~ Conl. ALUMINUM
TUBE W/ 2°x2"x1/8"%0°-2" ALUMINUM ANGLE

TO MULLION W/ (3) 1/478 x 3/4" TEK SCREW.
EA. LEG. (TYP TOP/BOTTOM)

1°%2"x1/8" ALUMINUM PLATE W/

44

000

1
1
1
I
I
|
1
|
|

EXISTING —— |
CLASS

//
0.
l

]
// 17
POURED CONCRETE Ef.D, |

REQUIRED (4~ MIN. THICK)

OR

i Ve

]
1V"2%2°1/4"%0'~6" Alum. ANGLE EA. SIDE W/ (2)

s

T SPLIT ROLL UP MULLIONS &

49 x 3/4" TEK SCREW 0 24~
C.

N\

\
& \
[ )
LY ]
/

NO HEADER & STORM BAR ALLOWED.

TRACKS W/ FACE MOUNT.

@@

N-0-@

1% 1% 1/8xCONT. ALUM ANGLE
W/ 1/4° x1/2" TEK SCREW 0 12" O.C.

WALL MOUNTING : SECTION W-W(3)
SCALE : 1/8" = 1"

NOTE:

A.S.D. DESIGN

INSTALLATION DETAILS SHOWN ON ALTERNATIVES 1 & 2 ARE VALID FOR
ANY STORM BAR HEIGHT AND HEADER SPAN CONDITION UNDER 175 psf.

PRESSURE RATING.

TYPICAL HEADER CONNECTION AT ENDS:

T
WALL MOUNTING : MULLION CONNECTION 7/}

GROUT FILLED BLOCK WALL REQUIRED.

4.000°

9
=

5/16% TAPCON XL ANCHORS W/ 1 3/4" Min.
EMBEDMENT INTO CONCRETE OR GROUT FILLED

FOR GREATER A.S.D. DESIGN PRESSURE RATING

BLOCK WALL FOR A.S.D. DESIGN PRESSURE RATING
UP TO 80 psf AND 9'-0" Max. MULLION HEIGHT &

AT TOP & BOTTOM : SECTION W-W (1)

USE (2) 3/8° 410 SS WEDGE-BOLT W/ 2" Min.
EMBEDMENT ONLY INTO POURED CONCRETE (4~
MIN. THICK) & (2) 3/8" THRU BOLTS THRU
MULLION AND ANGLES W/ NO MULLION HEIGHT
LIMITATION.

SCALE : 1/8" = 1°

T
mmmemmmmn SECTIONS W-W ST ZZ’"’"”/
OIOL s;‘?-\f\%\GENséf %"’;«,, Florida Building Code (Non High Velocity Hurricane Zone)
“x 3" A A N o i =
G W@ILE}<L—M—A s % © 2025 TILTECO INC. RLL 55-X SLAT NON END RETENTION WH.
Oor B g ROLL-UP SHUTTER oRamN 6Y
M 1L N :,‘: * :
GL o : :
% o / TiLTeco INc._\| ROLLAC SHUTTER OF TEXAS, INC. | o&/%/202s
ELEVAT/ON& % . TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
“ LOR\D% > @Zb 6355 N.W. J6th. St, Sts. 305 ~ VIRGINIA GARDENS, Fl. 33166 PEARLAND, TX 77581
PSP — %, <<~& b N S Phons : (305 871-1530 , For : (303) 671-1531 PH:(800) 880-0922, FAX:(281) 485-0839 25-053
“y, S ONAL ?}\\\‘\\ i DRAWING N*
,’/" HHHHH““\ WALTER A. TILLIT Jr..,:}f. REV N DESCRIPTION barE | REV N DESCRIFTION DATE
P SEAL/SIGRATURE/DATE FLORGS L. # 4 ! woiw lwwe] s SHEET 8 OF 11




2" x 4" WOOD STUDS
/ REQUIRED © CORNER
(TYPICAL)
1/4"8 ITW BUILDEX TAPCON
. ANCHORS @ EA. STUD OR @ 12"
o 0.C. IF Cont. WOOD HEADER i / L N\ NN\
S EXISTING AT THIS LOCATION, ra—
o | 4 / //
L~ 1" x 2" x 1/8" — | — |
T Alum. PLATE AT EACH ANCHOR L
m = L\
S / » - : ” /
i / < D 009" Min OO\ Mfn.= / — =
—1 W
1 : . I 2\ /
% ——— . @ i | S — /
Nw RS 252 ICETar = i
WOOD HEADER REQUIRED "3 £ 1/4"8 [TW BUILDEX TAPCON
d ANCHORS © 6 0. C. W/ 1 1/2° . . .
Se sas BESese Min. THREADED PENETRATION TO o
# ' EXISTING WOOD STUD.
/4 @o,\,@_/ 1/4 Y
Max. OR@ Max. T l
EXISTING GLASS WALL MOUNT — / / .
SCALE : 3/8" = 1*
MIN. SEPARATION 4 ] &
7O GLASS % ¥ 2" x 4" WOOD STUDS REQUIRED p——— s
(SEE SCHEDULE © CORNER (TYPICAL) 7
ON SHEET 10) ] 1/4"8 ITW BUILDEX TAPCON ANCHORS i
© 4" 0. C. W/ 1 1/2" Min. THREADED ﬁ‘,% L5 oko” ahib
PENETRATION ro EXISTING WOOD STUD. |
o] 1/470 x 3/4" ITW BUILDEX TEK | ]
: SCREW © 4" 0.C. ] i oy
4 k ] i 2" x 4" WOOD STUDS
058884 =3 2" x 2" x 125" Cont. ALUMINUM ’(?fv%léﬁﬁ) @ CORNER
\@ || ANGLE
o > =a 1/4"8 ITW BUILDEX TAPCON
] . H—EQ——EQ0—H ANCHORS @ 6" 0. C. W/ 1 1/2"
— Q 2 Min. THREADED PENETRATION TO
S i IB L ' @_/ EXISTING WOOD STUD.
T 1/4” 1/4"0 x 3/4" ITW BUILDEX
ke MAx TEK SCREW @ 4" O.C.
'ﬁnﬁ

ANANAN |

2
> PLAN B (SECT/OM st e )
INSIDE MOUNT /4
il SCALE : 3/8" ®OR Q MAX
1" x 25 062" cont.  INSTALLATIONS INTO EXIS T/NG WOooD BUILDINGS PLAN C (SECTION) BUILD—OQUT
[ Alum. ANGLE \“\m LT SCALE : 3/8" = 1”
1/4"0 ITW BUILDEX TAPCON UL AT 7%
ANCHORS W/ 1 1/2” MIN. ™ '\?/‘:{..-'--..L_(/ ”/4, } . . ) .
/ THREADED. PENETRATION @ Eo. §§‘?*-"\',\CENSE~ %, Florida Building Code (Non High Velocity Hurricane Zone)
wooo stup £ 17 No.aater z © 2025 TLIECD e RLL 55-X SLAT NON END RETENTION | wn
REQUIRED S " b 2 ROLL-UP SHUTTER DRAWN BY
WALL MOUNTING INSTALLATION 5:' a =5
TS SPAN_CONDITION 23 Ehor =—Fs- iLTEc o .. ROLLAC SHUTTER OF TEXAS, INC. | /1520
NOTES: %, e, 1‘20 1) Xx NS TILLIT TESTING & ENGINEERING COMFANY 5331 ORANGE STREET
N. T. S 1. A}?[T)ALB}T;%%S f;ﬁ% gl%g R\%/Iecro;? BUILDINGS WITH DESIGN LOAD UP TO 72 p.s.f. %5‘:%‘8/ 5,%\’ A 'é{()\\\ 2:5— 35 AR S "5;) ,fji:’,,fgs‘j,_e fﬂ% fwm?cf;’ . 16 pH.-(aooffé‘a’?ég"z“z’,‘"m’é(ﬁﬁff T e ona o
2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2 I’I’ H L (“‘\ \\ CA-0006719 DRAWING N*
W/ SPECIFIC DENSITY OF 0.55 OR DOUGLAS FIR W/ SPECIFIC DENSITY OF 0.42. ftiennn WALTER A. TILLIT Jr., P.E. eV oESCRPTON o RV DESCRPTOY o
CRATO FLORIDA Lic. # 44167 [} 0D 20-243 06/19/25 | 3 SHEET 9 OF 11

OR@

i




SLAT PERFORMANCE CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.)

AND CORRESPONDING MAXIMUM_SLAT SPAN "L

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

STORM BAR LOADING CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L’

FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

TY:LEL ;5SiAT MAXIMUM TYPE 1 STORM BAR TYPE 2 STORM BAR TYPE 3 STORM BAR
M;"\;_/%UM _ bq'g‘z,g',\, 2" x 4" x 1/4” 2" x 4" x 1/8" 2" x 3" x 1/8"
DESIGN | maxmum MINIMUM PRESSURE
PRESSURE| SLAT SEPARATION RATING () STORM BAR SPACING ) STORM BAR sPACING () STORM BAR SPACING
RATING SPAN TO GLASS (p.s.f.)
ety SINGLE SINGLE & £330 |y |4T05 [s06 | c3-0 [ 04|+ T05 5106 |50 ] T09] 7705 510 6
& MULTIPLE UNIT 30.0 OR o _n o e 5 e  m PR , » . P . g
MULTIPLE [ WIND |~ JIND LESS 10-0 e=@ 10'-0 10'-0 9'-0 9'-0 9-0 8'-11 8'-0 8'-0 8'-0 -3
il 1=3 4 35.0 10'-0" 10'-0" 10°-0" 10'-0" 9'-0”" 9'-0" 9'—0" 8'~-3" 8—0" 8'-0" 75" 6'-9"
£5.0 7-0" ” 6" 40.0 10-0" | 10-0" | 10=0" | 9'-171" 9'-0” 9'-0" 8'-6" 7'-9” 8'-0" 7'~9" 6-11" | 6-4"
30.0 7'-0" ik 6" 45.0 10'-0" 10-0" | 10-0" 98" o Bty 50" 7—q” 5o e P s11
35.0 7-0" ” 6" 50.0 10-0" | 10-0" | 9'-10" 9'-3" 9'-0" 8'-6" 7'-7" 611" 8'-0" 6-11" | 6&-2" 5'-8"
40.0 7'-o0" 1" 6" 55.0 10°-0" 10’-0" 9'-7" 8'-10" 9'~0" 8'-1" 7'-3" 6'-7" 77" 6'-7" 5-11" 5-5"
45.0 6'-7" 1" 6" 60.0 10’-0" 9'-11" 9'-3" 8'-5" 8'-11" 7'-9* 6'—11" 6'-4" 7'-3" 6'—4" 5'-8" 5-2"
50.0 6'-3" 1" 6" 65.0 10'-0" 9'-9”" 8'-11" 8-1" 8'=7* 7’-5" 6-8" 6'-1" 7'-0" 6'-1" 5'-5" 4'-11"
55.0 6'-0" 1” 6" 70.0 10°-0" 9'-7" 8'-7" 7'-10" 8'-3" 7'-2" 6'-5" 5'-10" 6'-9" 5'-10" 5'-3" 4'-9"
60.0 5-8" 1 6" 72.0 10°-0" g'-3" 8'-3" 7'-7" 8'-0" 6'—11" 6'-2" 5'-8” 6'-6" 5'-8" 5'—1" 4-7"
65.0 5'-6" 7 6"
70.0. 5'-3" 1" 6"
20 J5~2 12 N & O STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SMALL NOT BE EXCEEDED.
[m] 0 ]
| - A |
[= = - = =]
I_L__l
=] [m]
[=
L O [m]
D
[= =] o
— 3 NLITITIIIS
=] o iy,
N Tl Y,
N SN AN )
S PPRCENSE % 2 - L . . .
N . .
SINGLE SPAN MULTIPLE SPAN S RN & T2 Florida Building Code (Non High Velocity Hurricane Zone)
> - < Z
3 [ No.sater = P RLL 55-X SLAT NON END RETENTION WH,
SPAN LAYOUT =% * % E% ROLL-UP SHUTTER ORAWN BY
= 9 | STME e O I
3 E - =il 06/1 5
o oS liLlEc o INC. ROLLAC SHUTTER OF TEXAS, INC. | °/'%z
e N W / [ TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
NOTES: —MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS 7, é‘& AT T 20 7= 6355 MW, J6th, St, Ste. 305 ~ VIRGINA GARDENS, F1. 33166 PEARLAND, TX 77581
SHALL BE MEASURED FROM BACK OF SLAT TO GLASS. %, /ONA\‘/&\\ \\\‘7 Phone : (305) 871-1530 , Fox : (305) 871—1531 PH:(800) 880-0922, FAX:(281) 485-0839
///y” \\\\\ e—mail: tilteco®aol.com 25-053
Mrpepnnany CA-0006719 DRAWING N*
WALTER A. TILLIT Jr., P.E. REV N DESCRIPTION DATE | REV W DESCRIPTION DATE
FLORIDA Lic. 44167
AL7sl A “d . e e SHEET 10 OF 11




HEADER LOADING CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN

‘L” (Ft.) FOR A GIVEN TYPE OF HEADER AND STORM BAR HEIGHT (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

M,:XéMDUM TYPE 1 HEADER @ TYPE 2 HEADER @ TYPE 3 HEADER
DES./GN 2" x 4" X 1/4" 2" x 4" X 1/8 1" x 4" X 1/8
PRESSURE
RATING STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
(p.s.t.)
< 7'-0 7°'10 9 9’ 70 10° < 5'—0" 5' 10 8 < 5-0" 5 710 7
30.0 OR , " , » ’ " . » ’ - . " ’ "
P 15'—1 14'-0 13'-2 12'-0 11'=2 7'-1 6'-6
35.0 14'-9 13'-0" 12°-4" 12’-0" 10'—4" 7'=1" 6'-6"
40.0 13'-9 12'-2" 11’-6" 12’-0" 9'-8" 7'=1" 6'-6"
45.0 13'-0 11°-5" 10'-10" 11'-6" 9'—1" 7'-1" 6'—4"
50.0 12'-4 10°-10" 10'-4" 10'-11" 8'-8" 7=1" 6'-0"
55.0 11'-9 10°—4" 9’-10" 10°-5" 8'-3" 6'-10" 5'-9”
60.0 11'=3" 9'—11" 9'-5" 10'-0" 7'=11" 6'-6" 5'-6"
65.0 10°'-10" 9'-6" 9'-0” 9'-7" 7'=7" 6'-3" 5'-4"
70.0 10'-5" 9'-2" 8'-8" 9'-3" 7'—4" 6'-0" 5'—1*
72.0 10°-1" 8'-10" 8'-5" 8'-11" 7'=1" 5'-10" 4'-11"

SIDE RAIL ANCHOR SCHEDULE. MAXIMUM A.S.D. DESIGN PRESSURE

RATING _(p. s. £) AND CORRESPONDING MAXIMUM ANCHOR SPACING(in) *

FOR SIDE RAILS(P) &(Q) CONNECTION TO POURED CONCRETE OR

CONCRETE BLOCK WALL *

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

MULLION LOADING

CHART

MAXIMUM _A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND

CORRESPONDING MAXIMUM SPAN "L” (Ft.) FOR A GIVEN TYPE OF

MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S5.D. LOAD)

1—. FOR MULLIONS INSTALLED W/0O STORM BARS

A“;‘,‘,*g”:;,g,, (OTYPE 1 MULLION (4"x6"x1/4") (MMTYPE 2 MULLION (4"x4"x1/4")
PRESSURE

RATING MULLION SPACING MULLION SPACING

(psf) s4-0" 4'T05" 5'TO 8 <4-0" 4'TO5’ 5'T08'

S0ORLESS |12 - 0 “112'- 0 "|12- 0 "|12 - 0 *{12 - 0 "|11 - 10 *
35 2'-0 "|12'- 0 "|12 -0 "|12 '- 0 "|12 - 0 "[|11'- 3 *
40 12'-0 "|112'- 0 "|12'- 0 |11 - 9 "[12 - 0 "|10 "
45 12 -0 "|12'- 0 "(12- 0 |11 - 4 "[12 - 0 10 - 4
50 12°'-0 "|112'- 0 "|12'- 0 "|10 '- 11 "|11 - 8 "|10'- 0 *
55 12°'- 0 "}12'- 0 "[12'- 0 “| 10 - 7 "|11 '~ 3 |9 '- 8 |
60 12°'-0 "|12'- 0 "112 - 0 "[ 10 '- 3 "|11 - 0 |9 - 5 =
65 12°'-0 "|12'- 0 "[12'- 0 "| 10 - 0 "[10 - 8 |9 .2 =«
70 2°'-0 "(12'- 0 "({12-0 "[ 9 '- 9 "l10 - 5 "|g§ - 11 "
72 2'- 0 "[12'- 0 "(12'- 0 "| 9 - 7 "l10- 2 |g - g =

NOTES : REFER TO ELEVATIONS ON SHEET 1A OF 11

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
2—. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

SLAT TYPE 1 ((A))
(RLL 55-X)
A AsD | FASTENERS' SPACING "spcg” (in 0.0
DESIGN i 4
PRESSGURE SUBSTRATE P (RLL~40) SIDE RAL Q (RLL-1) SIDE RAL
e | | WALL [INSIDE |BULDOUT | WALL INSIDE _|BUILD-OUT
(psh MOUNT | MOUNT | MOUNT | MOUNT | MOUNT | MOUNT
450R LESS POURED CONCRETE 8" 8" 6" 8" 75" 6"
CONCRETE BLOCK | 7.5° 5.57 5 75 & 5
> 451072 PO sl £ e e s Lt \-i‘.\\mé’?-‘?.’ﬁ;f.f.m
CONCRETE BLOCK | 5.5 7 & 55" 5 5 e . Tilyy <’
- - 2
& \/><<' (‘,- NSE‘TIP %,
NIt * 2, . o . . : .
SN S Florida Building Code (Non High Velocity Hurricane Zone)
=~ S ° -
S © No.#al67 L =
* MAXIMUM ANCHOR SPACING (in.) AT SIDE . ik 2 © 2025 TLIECO INC RLL 55-X SLAT NON END RETENTION | = wa
e ki iU E ROLL-UP SHUTTER oRaw 6
RAILS VERSUS EDGE DISTANCE = E.D. = - ‘o £ ,
29, = %é I I
e ———— , L ALORIDE RS ILIEC O wnc. \| rowLAC SHUTTER OF TEXAS, INC, 08/ 132025
MAXIMUM ANCHOR SPACING IS VALID FOR 3" EDGE %, CTION SU @ > TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
DISTANCE., % SS/ \_?, N 6355 N.W. 36th. St, Ste. 305 — VIRGINI GARDENS, FI. \J166 PEARLAND, TX 77581
%, *TONA W& Phane : (305] 871-1530 , Fox : (305) 8711537 PH:(800) 880-0922, FAX:(281) 485-0839
/l“,““““\\\\/ e—mail: tilteco@aol.com 25-053
CA-0006719 DRAWING N*
WALTER A. TILLIT Jr., P.E. REV N° DESCRIPTION oAE | REV W DESCRIPTION 3
S— FLORIDA Lic. § 44167 - e T Po—
2




